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Pattern 1 Pattern 2 Pattern 3

The first three patterns in a sequence are shown above,

(a) Complete the table,

Pattern number i ] 2 3 4

Number of dots i 5

1]

(b) Find a formula for the number of dots, 4, in the nth pattern.

Answer (b) d= | ..., e teKrateesiniessererarereternterernin, [1]

(¢} Find the number of dots in the 60th pattern.

Answer (c)

......................... oo (1]

(d) Find the number of the pattern that has 89 dots.
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The number of tennis balls (7) in the diagram is given by the formula
T'= é-n(nﬂ),

where # is the number of rows.
The diagram above has 4 rows.
How many tennis balls will there be in a diagram with 20 rows?

Answer [1]
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